We can write the speed of Mr Chen’s car as 65 km/h.
Similarly, we can write the speed of Mr Gopal’s car as 95 km/h.

lE a m. The symbol / means per.
So we read 65 km/h as

65 km per hour.

istance And Speed

Mr Chen is driving from Town A to Town B. In | hour, he drove 65 km.
Mr Gopal is also driving in the same direction. In | hour, he drove 95 km.
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Welcome to|
l Town B | Do these.
: o e Jalil can cycle 8 km in one hour.

His speed is km/h.

0 Lalita can run 300 m in one minute.

The speed tells how fast Her speed is m/min.

Mr Chen and Mr Gopal
are travelling.

Mr Chen is driving at a

speed of 65 km per hour. e A marble rolls 9 cm in one second.

Its speed is cm/s.

0 Mingwei throws a stone and it falls 2 m in one second.
Its speedis =~ mls.

°' e Bernard runs at a speed of 12.5 m/s.
N In | s, he runs m.

' @ A lorry travelled at a speed of 48 km/h.
s In | h,the lorry travelled km.
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o Mr Ahmad drives his lorry at a speed of 45 km/h. At this speed, how far does
Mr Ahmad travel in:

e 2 hours?
o 5 hours!?

In 5 hours, Mr Ahmad travels 45 X 5 = 225 km.

[

Speed Time  Distance

Ask your child to calculate how long it takes you to travel from your office to your home.Tell your
child the time at which you left the office and the time at which you reached home.
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o A racing car is travelling at a speed of 175 km/h. How far can it travel in 3 hours?

Method 1
Eh == |75 km
Jih=—+3 %
= km
The racing car can travel km in 3 hours.
Method 2
Speed = km/h
Time = h
Distance = Speed X Time
= X
The racing car can travel km in 3 hours.

A bullet fired from a gun travels at a speed of 250 m/s. How far can the
bullet travel in 2 seconds?

Method 1

jisi=—> m

Dol m

The bullet can travel m in 2 seconds.
Method _ 2

Speed = m/s

Time = S

g
(]
I
X

‘he bullet can travel m in 2 seconds.




Speed involves two quantities:

e Distance covered
@ Time taken

Speed is the distance covered per unit time.

A
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o Joyce swims 450 m in 5 minutes. Find her swimming speed in m/min.

E;c'ample:

20 cm — | minute
(distance covered) (per unit time)

The snail covers 20 cm per minute.

snail crawls at a speed of 20 cm/min.

AT g A R Or L

ethod 1

Ask your child to calculate his average speed for swimming 2 laps in a pool. Use a stopwatch to find his

time taken for the swim.
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The distance between Town A and Town B is 147 km. A van takes 3 hours to travel
from Town A to Town B. What is the speed of the van?

Lek Ming ran round a field at a speed of 8 m/s. How long did he take to run a

distance of 96 m?




0 The distance between Village P and Village Q is 216 km. Mr Thomas rides his
scooter at a speed of 54 km/h. How long will Mr Thomas take to travel from
Village P to Village Q?

o E Farrah ran from her home to a beach at a speed of 18 m/s. The distance

between her home and the beach was 1008 m.

e How long would she take to run from her home to the beach?

@ If she wanted to take 14 s less to reach the beach, at what speed must she run?

Chapter 7: Speed

. Time =

Distance + Speed

= G s

Farrah took ' s to run from her home to the beach.

Time

Speed

Farrah must run at a speed of
reach the beach.

m/s if she wants to take 14 s less to

W s
Let’s Explore! l,\‘%ﬁ

~ Work in groups of four.

our teacher will provide each group with a stopwatch and some round objects of
ifferent sizes.

n the floor, mark out two points, X and Y. The two points should be 100 cm

100 em

object from X toY. Use the stopwatch to find the time taken for each
oll from X to Y. Record the time correct to the nearest second ina




| Calculate the speed of each object. What do you observe about the speed of

th object and size of the object?

Example:
Object Distance Time taken Speed (cm/s)
(cm) (s) (Distance + Time)
A 100
B 100
& 100
D 100
E 100

n Which object rolled the fastest and which object rolled the slowest?

B Explain the meaning of speed to your partner.

Lei’s Practise! 7a
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Solve these word problems. Show your working clearly.
o A motorist takes 80 minutes to travel 120 km. Find his speed.

Aishah accidentally releases the balloon she is holding. It rises 42 m in 8 seconds.
What is the speed at which the balloon rises?

A parachutist falls at a speed of 3200 m/min. What is the distance the parachutist
falls in 4 minutes?

o @ A bat can fly at a speed of 48 km/h. How many minutes will it take to fly a

distance of 8 km?

10 Chapter 7: Speed

L Da Ming walks from his school to his house at a speed of 5 km/h. He takes

ol
20 minutes to reach home. What is the distance between his school and his
house? Give your answer correct to 2 decimal places.

(Hint: Convert the time from minutes to hour.)

AR [
:*—]' A car travelled at a speed of 54 km/h for 32 h. Find the distance travelled.

The distance between Singapore and Bintan is 45 km.

If a ferry travels at a speed of 60 km/h, how long will it take to travel
from Singapore to Bintan? ;

If the ferry takes 40 min to travel from Singapore to Bintan, what is the
speed of the ferry? Leave your answer in km/min.
Give your answer correct to | decimal place.

Bintan

BéBp I

Practice |
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Average Speed

Post A and Post B are 120 m apart. Post B and Post C are 300 m apart. Budin runs
from Post A to Post B in |5 seconds. Then he runs from Post B to Post C in
55 seconds. Find Budin’s average speed for the distance from Post A to Post C.

120m, I5s 300 m,55 s :
et Y — 7 s
A

Total distance from Post A to Post C = 120 + 300
=420 m

15+ 55
70 s

Total time taken to run from Post A to Post C

Total distance travelled
Total time taken

_ 420

5 30

= 6m/s

Average speed =

Budin’s average speed is 6 m/s.
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Chee Kean takes 2 hours to drive from Town X to Town Y. He takes another
3 hours to drive from TownY to Town Z. The distance between Town X and
TownY is 90 km while the distance between TownY and Town Z is 180 km.
What is Chee Kean’s average speed for the whole journey?

km, h km,

A A

. |

»lat
— Lo o d

TownY

Lt}

Town Z

2 km/h

Total distance from Town X to Town Z =

Total time to travel from Town X to Town Z =

Total distance travelled

Average d=
8¢ spee Total time taken

= km/h

Chee Kean’s average speed for the whole journey is

- Chapter 7: Speed

km

km/h.




Pushpa swam for 100 seconds at a speed of 2.5 m/s. Then she swam for another
50 m. In total, she took 200 seconds to complete the swim.

e Find the total distance Pus.hpa had swum.

@ Find Pushpa’s average speed.

2.5 m/s, 100 s 150 m

b »l
L] =1

J

By v

2 mls, 200 s

. For the first part,
Distance swum = 2.5 X 100

= 250 m
Total distance swum = 250 + |50
= 400 m
400
. Average speed = 5,
=2mls

Pushpa’s average speed was 2 m/s.

Chapter 7: Speed
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|
Mr Abu drove for 27 h at a speed of 70 km/h. He then drove another 224 km.

He took 5 hours for the whole journey.

e Find the total distance Mr Abu had driven.
0 What was Mr Abu’s average speed for the whole journey?

km/h, h 224 km

s

. For the first part of the journey,

Distance travelled = X
= km
Total distance travelled = o
= km
Total distance
. Average speed = T
= km/h
Mr Abu’s average speed for the whole journey was km/h.

Chapter 7: Speed I5



= A train travelled the first part of a journey in | 5 h. It travelled the remaining

(e

(-

250 km at an average speed of 100 km/h. The total distance travelled was 394 km. i

e Find the total time taken for the journey.

e Find the average speed of the train for the whole journey. ;

|
I>h 250 km, 100 km/h

2 km/h, 394 km

. For the second part of the journey,

250
100

|
=25h

Time taken =

| |
Total time taken = 1’2" + 25
=4h
Total distance
. Average speed = m"

.5
7

|
= 985 km/h

The average speed of the train for the whole journey was 98% km/h.

Chapter 7: Speed

o Renee took 3 minutes to walk from the school to the store. She walked

another 675 m at a speed of 75 m/min from the store to the library. Renee walked
a total distance of 834 m.

e Find the total time taken for the journey.

@ Find Renee’s average speed for the whole distance.

min m, m/min

{6 Y

[P »la
s Ll

School Store Library

el
L}

i 3

. For the second part,

Time taken = "
= min
Total time taken = i
= min
D oo
i Total time
= m/min
Renee’s average speed for the whole distance was m/min.

Chapter 7: Speed
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i t 1
" ‘ | 5 T W s e A car travels from A to B and then to C. The car takes 3 hours to travel from A to B at

. B @ & ST TS e v 2R G O ) G £ 6 EL B s 6 & \
i | s © U PP O U il i Y U | an average speed of 42 km/h. It travels 128 km from B to C at an average speed of

Solve these word problems. Show your working clearly. | 68 km/h. If the car takes a total of 5 hours, find the average speed of the car travelling
| from A to C.

Majeed’s answer:
|

Find the total distance that Pei Fen walked.

What was Pei Fen’s average speed for the whole journey?

2 .
14s, 5 m/s 28 m Norlan’s answer:

A

A B C

? m, ?-;nls, 28 s

A ball rolled from Point A to Point B in 14 seconds at a speed of 5 m/s. Then,
it rolled a distance of 28 m from Point B to Point C. The ball took 28 seconds
altogether to roll from Point A to C.

Find the total distance that the ball travelled.

explain where they have gone wrong.

Find the average speed of the ball.

o A boat travelled for 4 hours from Pole A to Pole B. Then it travelled for 3 hours
from Pole B back to Pole A. The distance between the two poles was 40 km.

Find the total time taken for the whole journey.

J Find the average speed for the whole journey.

o g Jerry took I% h to cycle from his school to the library. He took another I% h

to cycle from the library back to his school. The distance between the school and
the library was 24 km.

@ Find the total time taken for the whole journey.

. Find the average speed for the whole journey.

Practice 2
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Nord Problems

Jack and Jill were standing some distance apart. Jack rolled a ball to Jill.

It travelled at a speed of 30 cm/s to reach Jill in 15 seconds. ill then rolled the ball
back to Jack. It reached Jack in 10 seconds.

Find the speed of the ball as it travelled from Jill to Jack.

30 cm/s, 15 s

i —

? cm/s, 10
.E_ 2 First, find the distance

between Jack and Jill.

e
I

Jack

i

Distance between Jack and Jill = Speed X Time

=30 x I5
=450 cm
Speed of ball as it rolled from Jill to Jack = Distance + Time
=450 + 10
=45 cm/s

The speed of the ball as it travelled from |Jill to Jack was 45 cm/s.

W

A man took 4 hours to drive his van from Town X to Town Y at a speed of
50 km/h. On his return journey from Town Y to Town X, he increased the speed to
80 km/h. How long did the man take to reach Town X!

First, find the distance

km/h, h
between Town X and
I« il TownY.
Town X e lowWni
km/h,? h
Distance between Town X and TownY = X
= km

Time taken to reach Town X from TownY = -

= h

The man took h to reach Town X.

Chapter 7: Speed
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o Mr Quek was travelling from Village X to Village Y. He took 2 hours to drive % of
the journey. He drove the remaining 270 km in 3 hours.
e Find the total distance that Mr Quek drove.

o Find the average speed for the whole journey.

A ? km i
? km 270 km

X Y

k_ﬂ A ~ 4}
2 hours 3 hours

@® 3 units — 270 km
: 270
[funit | == T

= 90 km

4 units — 4 X 90
= 360 km

The total distance that Mr Quek drove was 360 km.

Total time taken for the whole journey = 2 + 3
=5h

Total distance
Total time

__ 360

R

= 72 km/h

Average speed for the whole journey =

The average speed for the whole journey was 72 km/h.

Chapter 7: Speed
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| Ramlah cycled from her house to the beach. She took 4 minutes to cycle % of

the distance and took another |2 minutes to cycle the remaining 1584 m.
e Find the distance between Ramlah’s house and the beach.

0 Find her average speed for the whole journey.

?m
?m m
House Beach
min min
. 2 units — m
| unit —» =2
= m
3 units — 3 X
— m
The distance between Ramlah’s house and the beach was m.
. Total time taken for the whole distance = +
= min
: Total distance
Average speed for the whole journey = ————
Total time
= m/min
Her average speed for the whole journey was m/min.

Chapter 7: Speed

S
o | Choon Ming took 30 minutes to run a distance of 3600 m from A to C.

ol ;
He took 5 minutes to run from A to B, which is T of the total distance.

What was his average speed for the remaining distance?

3600 m, 30 min

A B ' ' ' C
1S A, ~ o),
5 min ? min,? m/mn
5 units — 3600 m
3600
| unit e
= 720im
4 units — 4 X 720
= 2880 m
Distance between B and C = 2880 m
Time taken to run fromBto C =30 — 5
= 25 min
Average speed for the remaining distance = %
T 2880
74

|
=4 ISg m/min

I
His average speed for the remaining distance was | 155 m/min.

. Get your child to find his average speed for his 1.6 km run.

Chapter 7: Speed
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o A lorry travelled for 5 hours from Factory A to Factory C at an average speed of
64 km/h. It travelled from Factory B to Factory C at an aVe'”age speed of R - el I Let’s Practise! 7c

80 km/h. If the distance between Factory A and Factory B is Z of the total distance

between Factory A and Factory C, how long did the lorry take to travel from RIS R JEC SR R TR M St yER R A e IR SR A R PER N e
Factory B to Factory C? : Solve these word problems. Show your working clearly. '
First, find the total distance. |

pe ; 7 e o Mr Kumar drove for 5 hours from Singapore to Malacca at an average speed of
: 60 km/h. How long would it take to travel the same distance if Mr Kumar drove at

the remaining 3 km of the journey.

E B C an average speed of 80 km/h?
km/h, ? h °-| Selena took 20 seconds to swim from Point A to Point B at a speed of 4.5 m/s

She took 18 seconds to swim back from Point B to Point A.
Distance from Factory A to Factory C = = Find Selena’s average speed when she swam from Point B to Point A. .
= km | : : ‘
T - f o Mrs Leong took | hour to drive 7 of a journey from Village R to Village S. f
units ; 1
She drove the remaining 180 km in 4 hours. 3
| {
| unit — o = km | What was Mrs Leong’s speed for the first part of the journey? g
: " s | How long did she take to travel the whole journey?
units - = : 5
| Find Mrs Leong’s average speed for the whole journey. i
Distance between Factory B and Factory C = km l |
Time taken to travel from Factory B to Factory C = * = h | ’-=f.;;\ Fauziah took 30 minutes to cycle from her house to the cinema. If she cycled
The | " b ] Srorh actony Bt Pactouy C the first 3 km of the journey at a speed of 150 m/min, find her average speed for
e lorry too o trave : |

| A motorist took a total of 4 hours to drive from Town A to Town C. He took

-
o % Carry out this activity.

Draw diagrams to show the following.

I hour to travel from Town A to Town B, which is between Town A and Town C.

The distance between Town B and Town C is :—5 of the distance between Town A

and Town C. If the total distance travelled is 360 km, find the motorist’s speed for
the journey from Town B to Town C.

I
e Samad walked from his home to the zoo at an average speed of 4 5 km/h for

4
% h. Then he walked back home with an average speed of 3 3 km/h.

i i t A to Post B over a distance of —
e fal 0 took 20minyees to aun ol . Mr Roberts drove a distance of |18 km from City X to CityY. At first, he

I
[ ¢ of the journey. :
U s S l ¢ drove at a speed of 60 km/h. Then he drove for 13 h to CityY, covering a distance

of 70 km. If Mr Roberts left City X at 14 00, at what time did he arrive at City Y?

S = WB6B,p I
iﬂ—h Practice 3
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Let’s Wrap It Up!

You have learnt to:

¢ calculate speed, distance and time given the other 2 quantities
» use the formula:
* Speed = Distance + Time
« Distance = Speed X Time
* Time = Distance =+ Speed
* find average speed
* read, interpret and write speed in different units: km/h, m/min, m/s and cm/s
* draw diagrams to solve word problems in speed

Let’s revise!

I
@gi Jane took |5 h to travel from Town A to Town B at an average speed of

]

56 km/h. She rested for 75 h at Town B. On her return journey, she increased
her speed to 70 km/h.

|£— h, 56 km/h 70 km/h

< 1
1

Town A Town B

~

?h

e Find the distance between Town A and B.
Distance between Town A and Town B = I% X 56
= 84 km
@ Find the time taken on the return journey.

Time taken from Town B to Town A = 84 = 70

Zig
='Izh

Chapter 7: Speed

o Find her total time taken for the whole journey.

I I 3
Total time taken for the whole journey = 15 + 5+ 70

=3h

Put On Your Thinking Caps!

== -

* Jessie and Kamal cycled 3.5 km from the school to the library along the same route.

en

When she arrived at the library at |1 15, Kamal was 1.5 km away from the library.
If Kamal cycled at an average speed of |5 km/h, at what time did he leave the school?

T WB6B,p 16

Challenging Practice

TTTWB6B,p 18

Problem Solving
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